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B. Com. (Hons.) 2nd Semester
w. e. f. Academic Session 2014-15
Onwards (Current Scheme)

Examination - May, 2024

FINANCIAL ACCOUNTING FOR BUSINESS - 1l
Paper : BCHN-2.01
Time : Three Hours | [ Maximum Marks : 80
Before answering the queestions, candidates should ensure that they have

been supplied the correct and complete question paper. No complaint in
tiis regard, will be entertained after examination.
w7 & gav 37 7 e vl 98 ghRead w7 d B eTE 77 0
&t geF 97 fer & uher # ovvrd §9 Ga9 A #E A R a8
gt @i
Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.
A% e B 0@ N g0 g8, g @9 Se § I
i g @@ 1 Ffhed B R N ® o

A B
1. Write short notes on : 2x8=16
wftre fewpef fafe
(a) What is Patent Royalty ?
9de awel F7 ¢ 7
P.T.O.
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(b) What menu option is available in gateway of Tally

screen ?
%@aﬂﬂ%h&ﬂﬂ?ﬂmﬂiﬁww%?
(c) What is Instalment Payment System ?
Ryl T SOl 74 8 7
(d) What is an Independent Branch ?
o @ e e 7
(e) Whatis Unrealised Profit in Department Accounts ?

Rt @t § o @ w e 7

() What is treatment for Realisation Expenses at the
time of Dissolution of Firm ? |

o 3 fved 3 9T T FG H I E 7
(g) What is Amalgamation of Firms ?

wA 7 g e 7
(h) What is a Wholesale Branch ?

ot qrar & ?
UNIT - |

5 ~ |
®

2. On 1st April, 2021, X purchased a Plant from Y on hire
purchase system at a cash price of ¥ 4,00,000
payable in four annual instalments of ¥ 1,00,000 each.
First instalment is to be paid on signing the
agreement. X writes off depreciation @ 10% per annum
on return down value method. Interest is

charged @ 12% p.a. 16

61161-  -(P-8)Q-9)(24) (2)



ﬂ
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X could not pay the instatement due on 31 st March,
2023 and Y arranged immediately to take
back plant which cost T 1,60,000 allowing T 1,10,000,
provided that X paid all the interest due to that
date on the full amount owing.

Show Plant Account and Y's account in the books of X.

1 3, 2021 F, X T Y & 4,00,000 398 A 7% =90 W
@ §49 @iF A/ 59% 1,00,000 9@ #F 9 I A
3 W W 60 W H9 =0 OgEH
Rear @I M X etz &g R w e 10% 5 =
Wﬁ;%mmm%mm%mﬁmﬂﬁm
T 2

X 31 9, 2023 # 34 B =@ TR T ¢ T ALY
3 9 1,60,000 593 @ 59 3 ¥4 A 1,10,000 T F
I 4% 3 T S99 A 39 5 X 7 9% a0e H
a9 == B TRE 0 I W W B R

X F g 3 g4 S| S Y W S RER

3. What is meant by leasing ? Discuss ifs advantages and

disadvantages. 16

T2 § AV = IeE 7 T TR AR THEE W
799 F|

UNIT -1l
= -1l

4. Mohanlal sales two products manufactured in his own

factory. The goods are made in two departments
A and B for which separate set of books are
maintained. Some of the manufactured goods of

61161- -(P-8)(Q-9)(24) (3) P.T.0



i as raw materials h}r
dopartment 1 and vice versa, From the following
particulars you are pecjuired (o ascertain the total cost
of goods manufactured in these two departments. 16

lh-pnl'imunl A e

——— S
—

Dept. -A_| Dept. - B

Total units manufactured 10,00,000 | 5,00,000 L |

Total cost Lo manufacture

(excluding inter-
departmental transfers) |

Deptt, A transferred 2,50,000 units to department B
and the latter transferred 1,00,000 units to the

former,

mmmﬂhﬁmmﬂmmz.m
ﬁhﬂamﬂﬂmmtlmmwm

o Fard @ onen B @ A & g8 Fiia g
Prapr B Z Fe A @ T I fee o # e e

Pl P Rt & o1 a Rt 3 R e
4y g @ @ fefer $%

Rarr-A | BT -B

7 Fffer et »
Frafor #) #w @ (sfee-Rerlg | 10,00,000 | 5,00,000

@M H BIEE) 3
T A 3 2,50,000 FEAT BeTT B @ eediaia @ AT
fawrr B # 1,00,000 34T R A # g #i

61161 -(P-8)Q-0)(24) (4)



5. Explain  the accounting treatment of preparing
accounts in the books of Head Office under Stock and

Debtor method with help of one example.

®l% @ IR R & owln gaw ate @ g

16
q

oG 34X FR B G U B 0% e F) gerdd 8/

HHART

UNIT =l
e ~ Il

6. X and y are equal partners in a firm, They decided to
convert their business into a limited company, named
as X Y & Co. Their balance sheet was as follows: 16

L
_Liabilities | < Asscts 14
r

Creditors 36,000 | Goodwill 20,000

Bills 4,000 | Building 2,00,000
Payable

General 1,20,000 | Machinery 1,00,000
Reserve

Capital : Stock 80,000

X 2 25,000 Debtors 40,000

Y 115,000 Investments 41],0QU

Cash 20,000

5,00,000 5,00,000

Purchase consideration was fixed at ¥ 3,30,000 which

was paid by purchasing company

as o

¥ 3,24,000 in shares and the balance in cash. Purchasing
company took over all the assets and liabilities

61161-

-(P-8)(Q-9)(24)
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except stock, which was distributed by the partners in
equal proportions.

ledger accounts in the books of the
d journal entries and balance sheet

assuming that the company
1,40,000.

Prepare necessary
firm. Also prepare
of the new company,
valued the building at %

Y & Co. a1, a7 e die g s 4
"o 4 CURL] |
SRR 36,000 | AT 20,000
Zg faw 4,000 | waH 2,00,000
1 2 L 1,20,000 | €54 1,00,000
T R 80,000
X 2.25,000 IR 40,000
X 115,000 | FT 40,000
e 20,000
5,00,000 5,00,000

arfz i 3,30,000 T X 7 fAT T A1 T T
Fod 2T fE F 324,000 FR AR 99 TH H FHA
o 34 Ol 3 @ @ siedt ad aREuRe oK aamE
7 e FC A a ©IF 3 A @} F S
% fafta fear 0 41
Wﬁwﬁﬂmwﬁﬁaﬂﬁ T B
e yfafedr Yo die A JaR B, T NG g F
3 Zqrd # T 1,40,000 5 SHH

61161- -(P-8)(Q-9)(24) (6)
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7. What do you mean by dissolution of partnership firm ?

Explain the accounting procedure regarding the

solution of partnership firm. 16
T2t o4 3 Res @ o 7 e & 7 sl o #
fwed & s # dwied s @ e ST
UNIT - IV
e - IV

. Shri Bhagwat Ram took mines. The first was taken

from Hari for a royalty of ¥ 5 per ton with a minimum
rent of ¥ 25,000 per annum and with the right to
recoup shortworkings throughout the term of the
lease. The other was taken from Rajendra for a royalty
of £ 750 per ton with a minimum rent of
% 75,000 p.a. and with the right to recoup shortworking
extending to the payment due on 31 st
December, 2021. on 1st January, 2021, shortworkings
account showed a debit balance of ¥ 27,500 out of
which % 12,750 relates to the first mine. During the year
2021, the output raised from the first min was 4,700
tons and from the second mine 11,400 tons. 16

Give general entries in the books of Shri Bhagat Ram to
record these transactions and bring out the balance of
short workings account for the year ended December

31, 2021.

ﬁmm%@mﬁeﬁpﬁaﬁﬁﬁﬁsﬁﬁsmnﬁra

ﬂﬁfﬂﬁ%f&lﬂmwmﬁmﬁﬂﬁﬁﬂﬁﬂﬁrﬁﬂm
Eﬁmﬁmmmu@#aﬁﬁr%%ﬁaﬂéﬁﬂﬂm

0 @ ST 9 N @3 W 4 7.5 T o o A
W%mmeﬁmﬂwm?muuw
gy @t a1 ST 31 P, 2021 B 39 TAM % qedeT

(7) P.T.0.



B I FE F AGHR M Fwad, 2021 B AR, ant
# 27500 59 @ fe ddg Rewy w, Fed 8 12,750
0 el wew § watg #1oad 2021 F AN, e @
R} TRA 4,700 7 ¥ g @ & 11,400 T 41

A T T R Qe A T A B F B A

gl qar 31 REey, 2021 B W ™ F f g
qreafeT @) & 99 &)

9. Explain Tally. How can you generate different reports
in Tally ? 16

F |2 B o W 1 e B e e s e B
g9 & 7

L)

61161-  -(P-8)(Q-9)(24) (8)
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61162

B. Com. (Hons.) 2nd Semester
w. e. f. Academic Session 2014-15
Onwards (Current Scheme)

Examination - May, 2024

BUSINESS STATISTICS

Paper : BCHN-2.03

Time : Three Hours | [ Maximm Marks : 80

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.

gl # Far 31 @ vew afenf 7w ghleT a0 @ 5 a7 g @
a geF g B & wder # gy g9 G99 7 @ o R @l

gl A

Na te ; Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.

A% I ¥ 0% U g0 BY, &M 99 5 3 SR
dfq g e 1 e B wH S @ 9

"/ 2
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1. Explain in the following in brief : 2x8=16
Py & w89 aren B
(a) Mutually exclusive events
Qe e Fe
(b) Assumption of Normal Distribution
ST Faerer A E
(c) Probable error.

g faH|

(d) Coefficient of determination
PR %
(e) Seasonal index
el g
(f) Cyclical-fluctuations
oY et
(8) Advantagé of Statistical Quality Control
gifea 1 Fra=m &
(h) Inverse probabily
el ST

61162  -(P-7)(Q-9)24) (2)



UNIT - |
e -

2. Explain the comparative Analysis of Binomial, Poisson

and Normal Distribution. 16

e GraER aUT ST R e S )

3. In an intelligence test administered to 1000 students
the average score was 42 and standard deviation 24.
Find : 16
1000 Bt R @ oF I waer A ohEd STl 42
9T gaTg faEe 24 9N S A

(a) No. of students exceeding a score 50.
50 # Y Wi AT e W we
(b) No. of students lying between 30 and 54.

30 9 54 % 49 Reg el & FE

() The value of the score exceeded b)F top 100

students.

gird 100 et &0 9 T U gTEiE @ A

61162- -(P-7)(Q-9)(24) [3}' P, TECL



UNIT =1l

gad — |l

4. From the following data calculate the coefficient of

correlation between age and playing hobbit :

16

fe ol @ Tewy UG oY T @ @ aeEq @

FIfere i )
Age (33) 15-16 | 16-17 | 17-18 | 18-19 | 19-20 | 20-21
No. of
Sudents 200 | 270 | 340 | 360 | 400 | 300
(et # ) |
No. of Regular
Ry 150 | 162 | 170 | 180 | 180 | 120
(Frafra Raenfeat
G

v

9. Explain the concept of Regression. Discuss its

utility. Also distinguish between Correlation and

Regression.

61162-

-(P-7)(Q-9)(24)

(4)

16



gl @ SN WS g st gk
T wemve q S SR

UNIT = [l
g -l
6. Find out the seasonal indices by the Ratio-to-trend
~
method from the data given below @ 16
Py oiiget @ ¢35 ogua Rz A BEee
Fil1g :
Year Ist Quarter IInd Quarter Ilird [Vth
Quarter Quarter
o gon GAE e e g Rerd@ g e
1984 60 ' 80 72 68
1985 68 104 100 88
?
1986 80 116 108 96
1987 108 152 136 124
1988 160 184 172 164
61162  -(P-n@924  (5) P.T.O.



7. What is time series ? Discuss its utility in business.

Explain the components of time series. 16
e & 77 ¢ ? w98 =@ad § S@PA & 1 A
TS 39 F HucHl o 999 I

UNIT = IV
= - IV ®

8. The following data refers to usual defects found
during the inspection of the first 10 samples of size 50
each from a lot of two wheelers manufactured by an

automobile company : 16
B e @ T T IW AR 3 R a3
ST 3 TR 10 T (9% 50 F) 3 7o 3 A0 W
’Eﬁﬁﬁﬂﬁlﬂﬁﬁ‘iﬁﬁﬁz

Sa:rq:leNm:nbm'123456?8910

N Db € 32 3 A Aani i3, @
Draw a 'p' chart to show the fraction defectives are
under control

7z a3 fu PR TR % o 3 FEE d R

61162- P-7HQ-9)24) (6)



9. Define Maximum and Bay's principles to lake optimal

decsion. 16

Fewm a0 I99 Rre @ ot o Pl &89 %
g

81162  {P-mQ9)24) (7)
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B. Com. (Hons.) 2nd Semester
w. e. f. Academic Session 2014-15
Onwards (Current Scheme)
Examination - May, 2024

BUSINESS MANAGEMENT
Paper : BCHN-2.04

Time : Three Hours ] [ Maximum Marks : 80
Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regurd, will be entertained after examination.
el & e @7 @ wed gderd w ghfar s & s pof of
§&l 9o 9 Ao & qioT 3 o §9 wAw 7 #F O w7
g i
Note : Attempt five questions in all, selecting one question

from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.

TAF TPE | 0% 09 g0 @, 3 99 9F 3 O

A v dem 1 R B oud oWl # oF

A 2

1. Explain the following in brief : 2x8=16
Frer 1 @ & e &t

(a) Administrative Management

qeES J9ET
61163- @50 -(P-4)(Q-0)(24) P.T.O.




(b) Limitations of Contingency Approach
FFHEF g H HE
(¢) Corporate strategy
e ol
(d) Three types of Decision
Friaw & i S
(e) Formal organisation
St e ®
(f) Profit sharing
-
(g) Chain Communication
A HaeAE
(h) Value chain Analysis
T A R
UNIT -1
T - |

2. Distinguish between contribution of Taylor and Fayol o
in development of management thought. 16

5 Rema 3 Rem 3 3 oaw %AW @w R
A F g U S

61163-  -(P-4)(Q-9)24) (2)



=

3. Write short noles : 16

fewpelt fvfie -

(a) Contribution of Drucker in development of
Management thought.

frex ot 1 s A & e A A

(b) System approach.
il
UNIT =i
TR — Il

4. What is the importance of decision making ? What
procedures should be followed in arriving at correct

decisions ? 16
frfr &% & 747 wew & 7 wé Pofld W 9gET @ g A
ety e =y ¢

5. Describe the steps involved in the process of planning.
Also mention the features of an ideal plan. 16
Ao A s B Rfg o & A Abm o e

Sorr & fdreel & Jww §FRT
UNIT =1

g -l

6. Define Motivation. Explain the Maslow's hierarchy of
16

needs.
mﬂﬁwﬁﬁﬂmlmqﬁmﬁm

FH GRAEC

61163 .(P-4){0-8)(24) (3) P.T.O.



7. Explain the following : 8+8=16
e 3 e $ifET
(a) Process of scoffing,

R it iRl

(b) Various principles of Sound & ideal organistaion.
Hge ud anedt wnew § R R
UNIT = IV
i - IV

8. Explain the following : 8+8=16
F= i arer fif

(a) Behavioural Aspect of Management Control.
TaY P & aEefite gftesm)

(b) Essentials for effective control system,
U et Frem s % f sy e

9. Describe various barriers to Communication. What
measures do you suggest to overcome them ? 16

(Rt #e & wweres & P & Ao A 2o o
Fi o B om wm b 7

61163-  -(P-4)(Q-9)24) (4)
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61164

B. Com. (Hons.) 2nd Sem. w.e.f.
Academic Session 2014-15 Onwards
(Current Scheme)
0 Examination — May, 2024

INTRODUCTION TO COMPUTER (THEORY)
Paper : BCHN-2.06

Time : Three Hours | [ Maximum Marks : 60

Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination,

et & g 39 @ e qtwrdl 38 g #T d B o g1
o7 @& w97 [ 8l giEr & ouiT 39§99 ¥ #g Wt

forrd 7 g S ekl
Note: Attempt five questions in all, selecting one

question from each Unit. Question No. 1 is
compulsory. All questions carry equal marks.

i SR ¥ 0% U 99T BN gU, FA 99 W
3 au A g gen 1 FAed 51 w6 5E $ Ab

9 &

J

61164- 1950 -(P-4){Q-9)(24) P.T.O.
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1.  Worite short notes on the following : 2x6=12
Frfefer vt wftre feoolt fordd -
(i) Hybrid Computer
T T
(i) Application Software

TR AT
(iii) WAN 3
=Y T O (I)
(iv) Spell Check
gl g
(v) Pivot Table
frae #am
(vi) MS-Access ¥
- T
UNIT -1
- P

2. Define Computer. Explam its characteristics and
components, S

Eﬂﬁﬁﬂﬁﬁﬂﬁﬂﬁﬁﬂﬂﬂﬁ@ﬂﬁﬂ@
|

61164- -(P-4)(Q-9)(24) (2)

21



1164 -(P-4xa9)Nes) (3 )

Explain the following : 6x2=12

Fr=ffad & ©= &
(i) Primary Memory
wrafe A
(ii) Operating System
Srqifen Reen
UNIT =i
T - Il

Define Computer Network. Explain its elements and
advantages. 12

FaEy g B oRET F 5ES O T @ T

Give a complete description about MS-Word and its

features. 12
cE-ad o T FEmel & A # g s &
UNIT - 1lI
s - Il
Describe the following : 6x2=12
Byefafad 1 o F
(i) Internet
gete
P.T.O.

22



y

(ii) E-mail
LS

Define MS-Excel. Also explain the components of
worksheet. 12

TH-TRE & A #0 g9 3 929 & 9
qRERa

UNIT =1V
-1V

Describe in detail about DBMS and its components. 12
DBMS 3R 98¢ Test 3 art ¥ Rww & o¢f7 54

Explain the following in MS-Access : Bx2=12
TeH-TEE | frefofaa i aren 3¢ ¢
(i) Database object
3TaY e
(ii) Sorting
i

61164-  -(P-4)(Q-9)(24) (4)
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91632

B. Com. (Hons) 2nd Sem.
w. e. f. Academic Session 2014-15
Onwards (Current Scheme)

Examination - May, 2024
BUSINESS ECONOMICS
Paper : BCH-2.02
Time : Three Hours | [ Maximum Marks : 80
Before answering the questions, candidates should ensure that they have

been supplied the correct and complete question paper. No complaint in

this regard, will be entertained after examination.
7o @ g 33 § v qounl @@ ghed wv 7 B o g oF
T o7 i P &1 qhar # gver 39 qqy A w7 o R 7@

F71 A7
Note : Attempt five questions in all, selecting one question

from each Unit. Question No. 1 is campu!smy. All
questions carry equal marks.

mmﬁWWgﬂﬁﬂﬁﬁ?mﬁﬁm
deg 99 wem 1 e ' w1 b @ o

o 2
1. Explain the following in brief : 2x8=16
Frefafead & w&g 4 o #i1 ¢
(a) Social cost.
|

91632-2100-(P-4)(Q-9)(24) 10,

24



(b) Difference between explicit and implicit cost,
e fifga @ 7 I
(c) Accounting profit.
q|iH A
(d) Homogeneous product,
qaeq q%])
(¢) Discriminating monopoly.
e aRiUH

() Selling costs.
g @
(g) Capital-output ratio.

ofl-Iearg ST
(h) Group equilibrium.

ik i Gl
UNIT - |

g ~ |

2. Discuss the various concepts of cost curves. How do
they differ between short run and long run ? 16

arr bl 1 it oreonell @ fdEsr B o
e | o7 Y W @ ST v o § 7

3. Explain economies and diseconomies of scale. 16

ﬁ#ﬁﬁﬂﬂﬁfﬂmmﬁﬁﬂﬂﬂhﬁl

01632-2100-(P-4)(Q-9)(24) (2)

25
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UNIT =i
@ -l
4. Explain short period and long period equilibrium of
induslry in perfect competition. 16
oo sivifr & seese qu ddew § g $ agET A
AT Hi

5. Explain in detail producer's surplus use diagram. 16

IURF F A A w9 G a0 B0 B F O B

UNIT - lli

g — i
6. Explain how price and output determined under
multiplant monopoly. 16

wmﬂﬁﬂﬁrﬁaﬂﬂawma'ﬁﬁm%ﬁ
g & ? aufa &

7. What are Selling Costs ? How do they influence the

equilibrium of a firm under conditions of monopolistic

cnmpelitinn 7 16

ﬁmwﬁw??mﬁﬁﬂnﬁfﬂﬁmﬂmﬁﬂmﬁ
% g @ A 37w Fl E

91632-2100-(P-4)(Q-9)(24) (3) P.T.O.
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UNIT - IV
g — IV

8. Discuss the factors affecting economic development.16
Y Fare S e 5 aw aE @ RS B

9. Explain the role of technology in the economic
development. 16

YT e § aite 9 gt 9 arer 51

81632-2100-(P-4)(Q-9)(24) (4)

27
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91635

B. Com. (Hons.) 2nd Semester
° w. e. f. Academic Session 2014-15
Onwards (Current Scheme)

Examination — May, 2024
BUSINESS LAWS -1l
Paper : BCH2.05
Time : Three Hours | [ Maximum Marks : 80
Before ansuwering the questions, candidates should ensure that they have

been supplied the correct and complete question paper. No complaint in

this regard, will be entertained after examination.

ot & av 33 @ vea el 7% ghReT #v & B oTE {7 @

7 v g Brr & ofer 3 o g gau 7w A R 7@

gt it

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

® % T ® 0@ NG P g, FW 09 el § I
S g den 1 gfed ® owR oaE F 9%

I #
1. Explain the following : 2x8=16
Frifefad 1 areqr i
(a) Partnerhsip
IECIE
B.E O,

91635-2000-(P-4)(Q-8)(24)
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(b) Implied authority
i AT
Capital Account Transaction (FEMA 2000)
ot e e (9 - 2000)
(d) Foreign security

Rt ST }
(e) Lockout

SIEICE!
() Layoff

geAl
(g) Employer

BEich]
(h) Safety of machinery

neidt & GO

(c)

UNIT-1.
s - |
2. "Mere participation in the profits of trade is not a )

conclusive test of the existence of partnership.”
Explain. 16

‘X H @A 4 RS 8 @ wEer @ Reeea &
FHfem FETT TE #1” GHHE

3. Explain various methods of dissolution of a firm 7 16
H % e 91 [t ffdt &1 aofs S

91635-2000-(P-4)(Q-9)(24)  (2)

29



UNIT = Il
EEER |

4. Explain the salient features of Foreign Exchange

Management Act. 16

Reslt Rfma wemasr ofefm i qer fadwarst & 2o
® i

5. Explain the important terminology and definmitions
under Foreign Exchange Management Act, 2002. 16

et fafrm e s, 2002 $ @EG HEET

=g 9 gt @ aol Fif
UNIT = Il
e -1l
6. What do you mean by Industrial Disputes ? Define the
causes and forms of Industrial Disputes. 16

s RBaE 8 @w 7@ sftvg 2 7 e ReEt @
FITO7 9T W9 =l ST Hie

7. Distinguish between a “Strike' and a 'Lockout’. Under
what circumstances strikes and lockouts are declared

illegal ? 16
FIA Ud aEel & ol ® enEEw B oawmsd
E2q U4 aIaEd B Ha9 it e s 2

91635-2000-(P-4)(Q-9)(24) (3) P10,

30



UNIT - IV

g - IV

8. Explain clearly the provisions of Indian Factory Act,

1_943 regarding approval, licensing and registration of
firms. 16

WY FRaE offw, 1948 3 TGS T
e & T & R saurt 3 e &9 @ g9aRy )

DESFrihe the provisions of annual leave with wages
available to workers under the Factories Act, 1948. 16

T SFEH, 1948 F sl sMEt 3t Iqe qiEhE
Hien afls sEme & sl & 2ol S

91635-2000-(P-4)(Q-9)(24) (4)
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